Chapter 7 Section 1 Answers: pg 331 - 333
1. 100

2. Sample answer: Write 13/25 as a fraction with a denominator of 100 by multiplying the numerator and denominator by 4, then write the numerator of the resulting fraction with a percent symbol: 13/25 = 13 ∙ 4/25 ∙ 4 = 52/100 = 52%

3. 13/20

4. 49/50

5. 48%

6. 90%

7. 1) 114 serves    2) 75 serves    3) 39 serves

8. 17/50

9. 2/5

10. 71/100

11. 27/100

12. 11/20

13. 9/50

14. 9/10

15. 17/20

16. 80%

17. 12%

18. 45%

19. 70%

20. 66%

21. 25%

22. 72%

23. 85%

24. 1/10

25. 75%

26. 76%

27. 3/10

28. 10%

29. 10%

30. 50%

31. 50%

32. 50%

33. 40%

34. 25%

35. 9

36. 19

37. 15

38. 63

39. 47

40. 13

41. 70

42. 125

43. 600 lb

44. 36 min

45. Sample answer: Because p% = p/100, 100% = 100/100, Simplifying 100/100 gives 1, so 100% = 1.

46. 7/10, 4/5, 0.83, 89%

47. 9/20, 54%, 0.62, 16/25

48. 17%, 9/50, 0.22, 9/25

49. 18

50. 8

51. 18

52. 7

53. 60

54. 35

55. a) Drawing    b) 44%    c) 19 pieces. Sample answer: To start the game, there are 44 total pieces on the board. 75% of 44 is 33, so there are 33 pieces remaining. If 14 of these 33 belong to you, then 33 – 14 or 19 pieces belong to the opponent.

56. 10%

57. a) about 640 students    b) about 320 students    c) about 90 students

58. No. Sample answer: Because 40% = 2/5, the area of rectangle A is 2/5 ∙ 2/5 = 4/25, or 16%, of the area of rectangle B. For example, if rectangle B has length 10 units and width 5 units, then rectangle A has length 4 units and width 2 units. So the area of rectangle B is 10 ∙ 5 = 50 square units, and the area of rectangle A is 4 ∙ 2 = 8 square units, or 16% of the area or rectangle B.

59. a) No. Sample answer: 40% of x is 0.4x, and 60% of y is 0.6y, so their sum is 0.4x + 0.6y, which is not the same as 100% or x + y, which is just x + y.    b) No. Sample answer: The average of 40% of x and 60% of y is ½(0.4x + 0.6y), but 50%, or ½, of the sum of x and y is ½(x + y).

60. – 30

61. – 2/5

62. – ½

63. 7 ½

64. 2

65. 10

66. 22

67. 1

68. 9 mangoes

69. D

70. Estimates may vary. About 90 more. Sample answer: 60% of 300 is 180, and 30% of 300 is 90, so about 180 – 90 = 90 more people read only the Sunday paper than read the daily paper.

Chapter 7 Section 2 Answers: pg 337 – 339

1. B

2. the base

3. 78

4. 16 2/3%

5. 90%

6. 40

7. Sample answer: The proportion shown is to find part of a base, not a percent, which is what is being sought. The unknown is the percent, p%, so proportion should be 20/30 = p/100, which gives 100 ∙ 20/30 = 100 ∙ p/100, and p = 66 2/3%.

8. 15 5/8%

9. 25%

10. 78 2/5%

11. 44

12. 39

13. 50

14. 64

15. 13 teams

16. 280 g. Sample answer: 8% is close to 10%, and 10% of 3500 is 1/10 of 3500, or 350. Because 8% is a little less than 10%, and 280 is a little less than 350, this is reasonable.

17. 55 paintings

18. 40%

19. 6 2/3%

20. a) 30 cars    b) 53 1/3%    c) 12 cars

21. Sample answer: Biologists have tagged 40% of a herd of elk. If they have tagged 30 elk in the herd, what is the total number of elk in the herd? Solving the proportion gives x = 75, so there are 75 elk in the herd.

22. a) 50%; 12 ½%    b) 81 8th graders     c) About 234 students. Sample answer: Of the 360 students in the original survey, 108 prefer spring. I solved the proportion 108/360 = p/100 to find that this is 30% of the students surveyed. Then I assumed that 30% of all students in the school would prefer spring, and I solved the proportion a/720 = 30/100 to find that this is 234 students.

23. 12 ½%, 33 1/3%, 37 ½%, 62 ½%, 66 2/3%, 87 ½%

24. 28 20/23%

25. a) 20%; 62 ½%    b) 56%

26. 1

27. 4y

28. 6y

29. 5y

30. 44y

31. 9 + x/75 + x = 25/100, 13 photos; 88 photos

32. 1.4

33. 0.975

34. 1.68

35. 0.0015

36. x – 20 = 168, $188

37. – 0.33333…

38. 0.7

39. – 1.6

40. 0.44

41. C

42. H

Chapter 7 Section 3 Answers: pg 342 – 344

1. to the right

2. Greater than. Sample answer: 0.5 = 50%, which is greater than 0.5%.

3. 13%

4. 627%

5. 0.05

6. 0.0098

7. 50%

8. 66.6666…%

9. 116.666…%

10. 275%

11. The decimal point should have been moved two places to the right instead of to the left: 1.5 = 1.50 = 150%

12. about 9.3 million square miles

13. 28%

14. 10%

15. 200%

16. 546%

17. 8.7%

18. 0.205%

19. 0.08

20. 0.19

21. 1.08

22. 1.042

23. 0.00302

24. 0.00051

25. 15%

26. 12.5%

27. 13.333…%

28. 11.111…%

29. 350%

30. 225%

31. 133.333…%

32. 120%

33. 0.15%

34. 0.003

35. 62.5%

36. 18

37. 272

38. 16.38

39. 42.07

40. 180

41. 480

42. 1.04

43. 0.175

44. 42 raffle tickets

45. about 318 mi/h

46. about $3.15 million

47. 606, 39, 6, 383, 365, 30

48. 9.25, 27.75

49. ¾, 100%, 150%, 5/3, 2

50. 4%, 2/5, 42%, 0.45, 0.5

51. 6.7

52. 2.5

53. 12

54. 40

55. 2.37

56. 0.16

57. 0.09

58. 0.5

59. a) $36 million    b) $263.5 million    c) $323.5 million

60. a) 100 students    b) 105 more students    c) 11.5%

61. 50%

62. No. Sample answer: Because 20² = 400, the side length of square A must be 20 centimeters, so the side length of square B is 0.65 ∙ 20 = 13 centimeters, and its area is 13² = 169 centimeters. This is 169/400 = 0.4225 = 42.25% of the area of square A.

63. 0.06

64. 4.5

65. 15.9

66. 7.2

67. 3/10

68. 6

69. 75

70. C

71. 2520 more music buyers. Sample answer: 0.89 ∙ 3000 = 2670 buyers preferred CDs and 0.05 ∙ 3000 = 150 preferred cassettes, so 2670 – 150 = 2520 more preferred CDs than cassettes.

Chapter 7 Section 4 Answers: pg 347 – 349

1. percent: 40%, base: 80, part of the base: 32

2. the part of the base

3. 15

4. 96%

5. 50

6. 75%

7. 1) percent: 3%, base: $2000, part of the base: amount of commission    2) a = 3% ∙ $2000, $60    3) $260

8. 9

9. 5.6

10. 5%

11. 0.5%

12. 30,000

13. 35

14. 75

15. 80%

16. 265%

17. 144

18. 780 CDs

19. 140 students

20. $280

21. 50 students

22. a) $26, $39    b) 40%    c) 52%. Sample answer: The prices of cookies and cupcakes are not the same.

23. 4.5

24. 80%

25. 500

26. 78

27. Sample answer: A fraction; a decimal; I would convert 75% to the fraction ¾ because 120 is evenly divisible by 4, but because 120 is not evenly divisible by 100, there is no clear advantage to changing 31% to a fraction.

28. a) about 58%    b) 25,949 seats.

29. a) Dole    b) Popular votes. Sample answer: The difference in the popular votes was about 49.0% - 40.6%, or about 8%, while the difference in the electoral votes was about 70.4% - 29.6%, or about 41%.

30. $6250

31. a) $250,000    b) 50%

32. A = 0.3h²

33. 471.6

34. 68.82

35. 12.18

36. 2

37. - 6

38. 4

39. 12.5%

40. 55%

41. 133.33…%

42. C

43. 50%. Sample answer: Originally, there are 0.35 ∙ 20 = 7 blue marbles in the bag. Adding 6 more blue marbles increases the number of blue marbles to 7 + 6 = 13, and the total number of marbles to 20 + 6 = 26. To find the percent of blue marbles, I then solved the percent equation 13 = p% ∙ 26, which has the solution p = 50.

Chapter 7 Section 5 Answers: pg 354 – 356

1. a percent of decrease

2. Sample answer: Multiply the original amount by 100% + 30% = 130%

3. increase; 50%

4. increase; 80%

5. increase; 75%

6. 1) an increase    2) 11 species    3) 44% increase

7. increase; 25%

8. increase; 60%

9. decrease; 40%

10. decrease; 77.5%

11. increase; 35%

12. decrease; 44%

13. In the formula for percent of change, the denominator is the original amount, not the new amount, so the denominator should be 90: p = 90 – 50/90 = 40/90 = 4/9 = 44.44…%

14. 80% increase

15. 91.5% decrease

16. 31

17. 210

18. 14

19. 25.2

20. $3

21. $15.75

22. a) Alaska; Florida     b) about 10.5% decrease

23. Yes. Sample answer: A 100% increase represents only a doubling, so if a quantity is more than doubled, the increase is greater than 100%.

24. $13,800

25. a) about 50.8% decrease    b) 1999; about 25.9%    c) No. Sample answer: The graph does not indicate the amount that is made per pair of shoes. Also, it is possible that the decrease might be because the manufacturers are having the shoes made for them outside the United States.

26. about 4.2 million people

27. 300%. Sample answer: A decrease of 75% is the same as 100% - 75% = 25%, or ¼, of the original amount. So to return to the original amount requires adding back ¾ of the original amount, and ¾ is 300% of ¼.

28. 9.7

29. 13.55

30. 1.5

31. 5.44

32. 1

33. 3

34. 4

35. 3

36. 81

37. 65%

38. 87.5%

39. 75

40. C

41. H

Chapter 7 Section 6 Answers: pg 359 – 361

1. markup

2. Sample answer: (1) Use the discount percent to calculate the discount, then subtract the discount from the original price. (2) Multiply the original price by (100% - discount price).

3. $27.30

4. $48

5. $15.75

6. $24.20

7. 1) discount price: $27, discount percent: 15%    2) 27 = x – 15% ∙ x or 27 = x ∙ (100% - 15%)    3) about $31.76

8. $76.50

9. $187.50

10. $27.75

11. $32.40

12. $189

13. $10.40

14. $44.10

15. $82.68

16. $30.25

17. $22.50

18. $22

19. about $26.32

20. about $11.16

21. $200

22. $300

23. about $97.73

24. $1147.50

25. $113.94

26. An 80% markup of the wholesale price followed by a 30% discount of the retail price. Sample answer: The markup is greater and the discount is less. To see the results, let x represent the wholesale price. In the first situation, the retail price is (100% + 80%) ∙ x = 1.8x, and the sale price is then 1.8x ∙ (100% - 30%) = 1.26x. In the second situation, the retail price is (100% + 30%) ∙ x = 1.3x, and the sale price is 1.3x ∙ (100% - 80%) = 0.26x, which is less than 1.26x.

27. a) about $1     b) Sample answer: About $3; first I rounded the price up to $20. Then because 10% of $20 is $2, and 5% of $20 is half of 10% of $20, I estimated the tip as $2 + $1 = $3     c) Sample answer: About $24; a high estimate; I rounded the price up to $20 and the tax up to 5%, and also calculated the tip based on the $20 price, so I overestimated both the tax and the tip.

28. 37.5%

29. ones, 3; 93

30. tenths, 0.0; 341.1

31. tenths, 0.9; 1596.0

32. hundredths, 0.08; 17,024.98

33. 350

34. 185

35. 375

36. 15

37. 0.45

38. 0.086

39. 1.02

40. 0.004

41. a) $13.31     b) $2.34; about 21.3%. Sample answer: I wrote and solved 11 + 0.06(11) + t = 14 to find the tip t, which is $2.34. To find what percent of the food bill $2.34 is, I solved the equation $2.34 = p% ∙ 11 to get about 21.3%.

Chapter 7 Section 7 Answers: pg 364 – 366

1. the principal, or the amount deposited or borrowed

2. Sample answer: In simple interest, interest is earned only on the original principal, while in compound interest, interest is earned both on the principal and any previously-earned interest.

3. $140, $640

4. $56.25, $2556.25

5. 1.8%

6. 1.25 y, or 15 mo

7. $757.70

8. $500, $1750

9. $182, $507

10. $72.90, $672.90

11. $392, $3592

12. $4, $104

13. $43.31, $538.31

14. $306

15. $9000, 4.6%, 5 y

16. 6.25%

17. In the formula, t represents the time in years. Because 6 months = 0.5 year, 0.5 should have been substituted for t: l = Prt = (200)(0.055)(0.5) = 5.5. The interest earned is $5.50.

18. $926.10

19. $3780.01

20. $1916.64

21. $1240.95

22. $112.50; $337.50; $562.50

23. Account A

24. Stays the same; increases. Sample answer: In a simple interest account, the interest earned each year is always the same percent of the original principal, but in a compound interest account, the interest earned each year is earned on the amount of the principal increased by any previously-earned interest.

25. a) Column 1: $1050, $1100, $1250, $1500, $2000  Column 2: $1050, $1102.50, $1276.28, $1628.89, $2653.30     b) Graph     c) Sample answer: The points on the simple interest graph lie along a straight line, while the points on the compound interest graph lie on a curve that keeps rising more and more steeply.

26. about 21.7%

27. 10 y. Sample answer: The account will double when the interest earned equals the principal. The interest earned is P(0.1)t, so I reasoned that this quantity will equal P when 0.1t = 1, or when t = 10.

28. a) $6644.70; $10,319.83     b) Yes. Sample answer: You will have $18,459.87. I found this quantity by calculating the sum 3000(1 + 0.07)5 + 3000(1 + 0.07)4 + 3000(1 + 0.07)³ + 3000(1 + 0.07)² + 3000(1 + 0.07)1. This represents the first $3000 earning compound interest for 5 years, the second $3000 earning compound interest for 4 years, and so on.

29. – 1

30. 2

31. 21

32. 45

33. 36

34. 200

35. $29.75

36. B

37. H

